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ACCELERATED: Chapter 9 QUiZ Review (Leeons 1-4)

Lesson 1 Homework Practice ~Functions

Determine whether each relation is a functlon. Lypisig,
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L&SSOI’I 2 Home k Practice - Representing Linear Functions

Find three solutions of each equation. \Write the solutlons as ordered pairs @h\.’ﬁ”‘ HMI‘,)
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7. Kirsten is making gingerbread co

okies using her grandmother's recipe and needs to convert grams 1o ounces.
The equation y = 0.04x describe

s the approximate number of ounces y in x grams,
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¢. Do negative valyes of x make sense in this case? Explain. 0y 100 200 300 <00 x
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f Changle and Slope

Find the constant rate of change for each Hpear function and i
1.

oterpret its meaning. - '
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Find the slope of each line,
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Find the slope of the line that passes through each pair of points, Show all work, - -
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Lesson _
( 4 Homework Practice - Direct Variation

Feteraning if the ;
relati by B
| ORBiEpP betw cen the two quandtles I a divect variatlon,
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Detertoine whether the linear relationship is a direct variation. 1f so. state the constant of variatlon,
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& The cost ol paper varies directly with the nuber of rearms bought. Suppose 2 venms Cost $5.10.

| o Write an aquation that could be used to find the cost of ¥ rewms of paper, Y =2 55 X%
b Fird the cost of 13 reams ol paper. *3? 7 5

6. Revall (hat the lenth a spring stretehes varies direutly with the amount of weight attached to it. A certain spring

sretehes 3 ot when a 10-gram weight i attawhed.
s. Write a direct variation equation relating the weight v and the amount of streich v, \/ =0 5}

b. Estimate the stretch of the spring when @t has 2 42-gram weight attached.
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